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Ladislav
Měření obvodu
22,02 m 

Ladislav
Měření obvodu
67,71 m 

Ladislav
Měření obvodu
7,98 m 

Ladislav
Měření obvodu
8,90 m 

Ladislav
Měření obvodu
8,90 m 

Ladislav
Měření obvodu
7,99 m 

Ladislav
Měření obvodu
7,98 m 

Ladislav
Měření obvodu
8,90 m 

Ladislav
Měření obvodu
8,90 m 

Ladislav
Měření obvodu
7,98 m 

Ladislav
Měření obvodu
8 m 

Ladislav
Měření obvodu
8,92 m 

Ladislav
Měření obvodu
11,60 m 

Ladislav
Měření obvodu
11,60 m 

Ladislav
Měření obvodu
11,60 m 

Ladislav
Měření obvodu
11,60 m 

Ladislav
Měření obvodu
11,90 m 

Ladislav
Měření obvodu
19,71 m 

Ladislav
Měření obvodu
53,50 m 

Ladislav
Měření obvodu
9,50 m 

Ladislav
Měření obvodu
9,16 m 

Ladislav
Měření obvodu
16,93 m 

Ladislav
Měření obvodu
17,02 m 

Ladislav
Měření obvodu
10,23 m 

Ladislav
Měření obvodu
13 m 

Ladislav
Měření obvodu
9,91 m 

Ladislav
Měření obvodu
9,81 m 

Ladislav
Měření obvodu
13,10 m 

Ladislav
Měření obvodu
10,39 m 

Ladislav
Měření obvodu
10,50 m 

Ladislav
Měření obvodu
12,90 m 

Ladislav
Měření obvodu
9,56 m 

Ladislav
Měření obvodu
17,18 m 

Ladislav
Měření obvodu
17,20 m 

Ladislav
Měření obvodu
17,20 m 

Ladislav
Měření obvodu
17,20 m 

Ladislav
Měření obvodu
16,90 m 

Ladislav
Text napsaný psacím strojem
Měřítko 1:75




